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1. Lineah Equations in Twe Vahables ==

Coefficierits Constarit
N—ax + by \-I,_ CC 0

Vaviables

where, are real numbers

Pair of Linear Equations in Two Vaviables

Considen two differert equaions in x and y,
2x+7y+5=0

8x+3y+3=0
These two combined are known as pair of linear equations intwo

variables,

Genenal Form of Pair of Linear Equations in Two Vaviables

ax+by+c,=0
(506 DsY - Cre=0




®

1 Types of Paihs of Lincah Equalions =————

Parallel Lines Coincialing Lines

a b € a b a b €
55 D5 5 a, b, a, b3 C
Inconsisterit equalions Consisterit equalions
No solution At least one solution

3. Metheds of Solving Paihs of

Lincah Equalions

Methods of Solving

Graphical Method Algebraic Methods

Substitution Method Elimindtion Method Cv‘oss-MuttiplicaTion Method



3.1 Ghaphical Method

2x—1y=-1, 3x+2y=9

To constiruct a line, we need dt leastTwo poirit of the line, we find the value
substituiting values of x and y in the two equalions,

Paot e Sy 3x+2y =29
x T 1 x 0 3 1
y 1 0 3 y ; 2 2

n Y
(1,3) The x-coordinate and the y-coordinate
of the poirt at which the two lines
intensect is the solution(s) of the patir of
y equiions,
X / T




3.2 Substitution Methed

GD " i Vs S i i

i Take one of the equations and move m to LHS and the restto RHS :_

| To getthe value of

i Substitute the obtained in 1R equiation To get the i
= =

X—y =
x—(4—x)=2
2X —4 =2
o

Now, substitute the obstained (0T A din either of the |
mloet the value of 'y’ ==




3.3 Elimination Method
3x+2y =18 5x 44y =32

? Note down equaitions alignedto respective Pick the variable which will be easien o

variables as shown, elimindte,
3 e 2y = ] 8 +3x = | +18
+5x | +4y | = | +32 S0k = (Ep5Z

E . S . .
qua.lls.e‘[he D ?f‘the LA Subtiact the second equaition fom the finst
be eliminated by multiplying every term of , :
equation by reversing all the signs,

The equation with the same number,

+3x (+2y | | +18 +6x | +4y |=| +36
- I e et e
—5x | —4y |=| —32
Ebe=dy = — |—=E32 i S
Substitute the value of the now known Verify the values olstained for
variable irto the simpler equaition to get the x and y by putting them
value of the dthen variabl% inthe given equaions
2

We know that,
x=4 3x + 2y = 18,
And, 3x + 2y = 18
=3 x4+ 2y =18
=12 + 2 =18
= 2y = 6
=y =3

5x + 4y = 32
From the above, x =4 and y = 3. | LHS 5x + 4y

Therefore, (4,3) is the solution of the 5X 4+ 4 x 3
simultaneous equations RHS
“3x + 2y = 18" and
“5x + 4y = 32"

LHS = 3x + 2y
=3 X4+ 2 X3

= RHS




3.1 Chess-Mudliplication Method

G ey =0
a,x + b,y+c, =0

RN CA (" coefficienits, variables and constarits in
U, After that muttiply and sulbtract inthe

direction of the arrows as shown:

Get x and y inthe LHS and S0 0 R U 2 e 2T o

gel the answer,




Solving Nen-Lineah Paih of Equations ———
i Solve for % and [, i
e e e
x—1+;_ SRS PIEE R

' Sotve the TN Cley | :
1 equdlions using any method | ! Now SITE for x and y. !
e e ey v 1
Sp+q = DS » Y
1 4
6p — 3q = = = _ _
q 3 X 3 y=3
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